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QUESTION 1

A customer is unable to order PTEs or send service requests to IBM. Which command will enable connections to IBM? 

A. CRTSRVCFG ROLE(*PRIMARY) 

B. STRSRVAGTTYPE(*ACTIVATE) 

C. SNDSRVRQS ACTION(*CONEIGURE) ROLE(*PRIMARY) 

D. SNDPTEORD PTEID(*ESERV) ESERV(*PRIMARY) INIT(*YES) 

Correct Answer: A 

 

QUESTION 2

An IBM i 7.1 partition has a system ASP that has a combination of Solid State Drive (SSD) units and Hard Disk Drive
(HDD) units. The system administrator needs to permanently migrate the logical files that are randomly accessed by the
application jobs to the SSDs. 

What is the appropriate method for identifying the most randomly accessed logical and physical files? 

A. Query the table QSYS2/SYSIXSTAT for files with logical reads greater than U and sequence in descending order. 

B. Use WRKACTJOB command to identify the application jobs.For each job, select option 5=Work with, then 14.Display
open files, if active, than press Fl 1. 

C. From Performance Tools, generate a system report to an output file.Query the output file for logical files with random
reads greater than U and sort in descending order. 

D. Trace the accessed file data using the TRCASPBAL SET(*ON) ASP(l) command.Print the report with the command
PRTTRCRPTTYPE (*FILE) QRDER(*DESC), and look for Random Reads/sec. 

Correct Answer: A 

 

QUESTION 3

On a system with a single ASP, an I/O intensive batch job that normally completes in 30 minutes is still running after 2
hours. CPU utilization on the system is less than 10% and memory is not constrained. The WRKDSKSTS command
shows the following: What should be administrator do to improve performance? 
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A. Run Start Disk Reorganization (STRDSKRGZ) 

B. Run ASP Balancing with a Balance Type of *MOVDTA 

C. RUN Reclaim Storage with a Select Type of * RSMLAC 

D. Run ASP Balancing with a Balance Type of *CAPACITY 

Correct Answer: D 

 

QUESTION 4

When a user opens up Database Navigator for IBM i 7.1, only the QGPL database is initially available. The user needs
the list of schemas to be available each time Database Navigator is opened. What action can the administrator take to
support the requirement? 

A. Add the user to the authorization list QSM1 AUTL and restart the host servers. 

B. In Application Administration for System i Navigator, enter a schema name and press the ADD button. 

C. Create a supplemental group profile that has the needed list of libraries assigned and make the user a member of
that supplemental group. 

D. Create a job description with the appropriate list of libraries on it and assign the job description to the user. Have the
user sign off and sign on again. 
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Correct Answer: D 

 

QUESTION 5

An administrator is creating an IBM i 6.1 guest partition on a Power 720 with no expansion units. The host partition is an
IBM i 7.1 partition. The system has only one internal DVD, located in the CEO, which is allocated to the host partition. 

The administrator has configured the partition profile, the client and server vSOSI adapter pair, a network server
description and 12 storage spaces. There is no additional optical media device to start the D-mode IPL for this guest
partition. 

What is the fastest way for the administrator to complete the IBM i 6.1 installation? 

A. Use the existing DVD device that is allocated to the host partition. 

B. Reallocate the DVD device from the host partition to the guest partition. 

C. Configure another vSCSI adapter pair in order to access the existing DVD device. 

D. Convert the 6.1 DVD5 to .iso images, create a virtual optical device and load the iso images to it. 

Correct Answer: A 
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